P-1

_— ~ o
BT T
20244 11 A 28H (oK)
BLiw: WH * % * ok okok 1 % %k %k %k ok * 3] kokok Rokok B ok k% kk
D2RA@EEDE® O2@DEEDE® D2E@EEDEO @@@@@@@.@
(Mg A4 g | 3 | B | ™ [GROSS|HDCP | NET fii & I fi BEA % | 46 | 3= | ® |GROSS| HDCP | NET ER
B RO 84 49 49 [14.4 | 34.6|H 5L |EE &M 46 | 46| 6.0 | 40.0
B | A fFR 41 | 41| 6.0 35.0(H SOfiL | EHE RETE 52 | 52 (12,0 40.0
B |iEA 50 | 50 |14.4 | 35.8|H 53 |BEM ik 52 52 [12.0 | 40.0
A | K B 37 371 1.2 35.8[% S |TTH T 58 58 |18.0 | 40.0
SOl Bex 41 | 411 4.8/ 36.21H S5V | BB SEM 58 58 |18.0 | 40.0
6| A®E R 46 46 | 9.6 36.4|H 567 [k IERI 60 | 60 [20.0[ 40.0
e | HEH 39 30 2.4 | 36.6|H BT |RE EF 50 50 | 9.6 | 40.4
S |RM 1B 39 39| 2.4 35, 6| BRfir |l 2EW] 55 55 |14.4 | 40.6
ofif |dbkm  =HR 44 44| 7.2 36.8|% SO0L |46 fEE 48 48] 7.2| 40.8
10{i | HEF  #2 44 44 | 7.2 36.8|H 6oL |#AH: HETF 54 54 113.2 | 40.8 |FRE
AL S 44 44 | 7.2] 36.8 61\ Btk HEHA 60 | 60 [19.2 | 40.8
124 [k & 50 50 [13.2 | 36.8 62 |4k #HEE 53 53 {12.0 | 41.0
I3ff [NEH B 43 | 43| 6.0 37.0 63V (B B 53 53 |12.0| 41.0
140 | FaTEnif  woin b 43 43| 6.0 37.0 64l |ZRIL & 61 61 120.0 | 41.0
15{7 | HE8F 35 43 | 43| 6.0 37.0 BLOL | A5 FER 58 58 116.8 | 41.2
1607 | B8 = 43 43 | 8.0 37.0 66 AR 3k 58 58 |16.8 | 41.2
17 | K B 42 42| 4.8 37.2 670L kBT R 51 | 51| 9.6 41.4
187 | &K HEF 47 47 | 9.6 | 37.4 BONL | ¥R f@ 55 55 |13.2 | 41.8
190 [#EIL e— 52 52 [14.4 | 37.6 6O |1FEE Bk 54 54 [12.0| 42.0
2007 |2 FE 45 45 | 7.2 | 371.8|TRE TO07 [{HE AHR 60 60 |18.0 | 42, 0K
AF | HA ER 51 | 51]13.2] 37.8 THY |8 "X 51 51| 7.2 43.8
220 | il & 51 51 |13.2 | 37.8 ToL [ IR 56 | 56 |12.0| 44.0
230 [ &Nl & 50 50 [12.0 | 38.0 THL | NE —K 62 62 |16.8 | 45.2
2447 [BEIE mE 43 43 | 4.8 38.2 7ML |ERZE BEC 71 71 [20.0 | BL.O
250 |4k SHEE 43 43 | 4.8 38.2
6L [ EFTT EX 49 | 49 [10.8 | 38.2
2THL | R E-—BR 49 49 |10.8 | 38.2
28{r |flEk  #H% 49 49 |10.8 | 38.2
2907 | HE BE 48 48 | 9.6 | 38.4
30467 | okm K 48 48 | 9.6 ] 38.4 |FRKE
RTAEETLE 33 47 a7 | 8.4 38.6
3207 | ¥GE  Eh 47 a7 | 8.4 | 38.6
33 |HERE BHTF 53 53 [14.4 | 38.6
M| B B 53 53 (14.4 | 38.6
3007 |#E =5 53 53 [14.4 | 38.6
RN IGESE S 53 53 |14.4 | 38.6
ITHE | A H/E 53 | 53 |14.4 | 38.6
3B | #WIL = 53 | 53 |14.4 | 38.6
3L | FE E=— 46 46 | 7.2 38.8
4007 |HEE  BA 52 52 |13.2 | 38.8|R¥
417 | FERT Sk 45 | 45| 6.0 39.0
42 |HA = 51 | 51 (12.01 39.0
A3 | B &G 44 44 | 4.8 309.2
4447 |PBIE @ 50 50 [10.8 | 39.2
AS(V [ PR EEE] 49 49 | 9.6 39.4
460 | B H  1HE 49 49 | 9.6 39.4
47 |1 R, SF 48 48 | 8.4 39.6
S| NEg BS 54 54 (14.4 1 39.6
4907 (Rt 2 47 47| 7.2 39.8
| BOGL|#kE  #k 53 | 53 [13.2| 39.8|RH )

REWLHY W)= 57T



